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And according to X2%pw 529 who says, etc.

Overview

The &n»12 cited a P12 as to the criterion for paying 01p. According to "9
107 the woman must be 77 72 w», that PY17P are 72 10910 (this would
exclude 21 Mn°72 2°°17). However X°01» 32 ¥'"1 maintains that she must be an
op? RN AwR. The XMy immediately explains that the difference
between them will be if he is DiIx» one of the XY *2»n (such as a namn
71°n11). According to "12°nn w'"7 they will receive 0Ip, since 71°091 PUNTPR
TIR? °212 (according to most opinions); however according to X011 12 w"
the X% >2>11 will not receive 01p since they are not an 77°°P% 7187 WX, The
X3 then asks, but according to ¥"7 who maintains that 70910 PR X
TIR? °2°173, then 7711 °kn. Seemingly the question is that if *1°n7 w"1 and
X°01% 12 w"1 both agree with ¥"9, then by % 21, both would also agree
that she receives no 01p, since (according to ¥"7) 72 090 PWITRP PR, Our
mooIn will show that this cannot be the s'&713 question.

nvoIn asks:
= (.0N 7N . 7 MnaY) ]-"JII'IFI:I NA'PD "IN KT 139 In"nn N 37T 1A JD N1

And even though that s1»°n77 w'9 explicitly argues against ¥''% in 79

1?51!1.'!, and maintains that there is no PR >2»n» 21n (or 121 WY °21), only from 21
mn»> (or 72 mMn°» °2m1), so how can the X3 ask ‘what is the difference according to
¥"7’, when “1°ni7 1wnw does not agree with ¥"1?! There will always be a difference
between 127077 YW and X°011 12 W', 12707 1YY who (argues on ¥"1 and) maintains that
TIXY 2712 Poon PwITR (and certainly by Awy v2m) will be 01 21 by 2»m) PIX? 270
nwy), for 17 12 wY; however X011 12 w"1 will not be 03P 2°11 by "X °2*n1 (and even not
by 7wy >2°°1), since she is not an an>pPY 1R AWK, for it is forbidden to him to live with
her (even if P17 is ©9IN).

moon answers that the question is not on 12 N7 NYAW, but rather the X773 -
= ™13 N'0IN |2 URW *119 N3N
Here is asking (only) on X017 32 @' -
— "IN"NN DR 1719 1112 ‘W10 17 'NA K2 273 130 N

' The 7wn in V51ﬂﬂ reads: N7 YHY 220w 3 MK 1000 A Y'Y "MaT R X722 RIW W32 WY 93 alralaRhighs
431 17273 79%M onw 5702, A child is a 7mn, only if he is born from a union where 10910 PR TR, as the
X3 states in 2,7n M. Therefore according to *12°N7 Nynw, that a 7tn is only MN®13 °2>°m and not 21N
1IXY, this indicates that 1°w17p is 1IX? 212 09IN; as opposed to ¥"1 who maintains that 1°0910 PWITR PR
XY 2212, See following 1212°1 1"7 Mvoin for additional details.

* The term w170 is (usually) used by n901n to indicate that the explanation is not as it initially seems. The
question 177*1"2 °k» cannot be understood in its regular manner. There will always be a difference between
*12°n77 W' and X°011 12 @ (by IR 22%n, etc.) as mentioned previously (in the first paragraph). The
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That if he (X°01n 72 w"7) will agree with ' that °2n2 70910 PYITR TR
7IxY,” then what will be the difference between them; meaning, what will

be the difference between him, X017 32 "9, and "0 @' -
= "1 N3 W'W 1p1 871 NP7 AN 1pPIINT

For since X°01» 72 "1 mentioned that the woman should be ‘fit to be kept
in a marriage’ and he did not mention that she should be a woman ‘that

the man can be w7Pn’ (as *1°n7 w"A said) -

= "IN N2 W™ AN*PI A"INR1 R W7 DRWN
This indicates that there can be a woman who is 2P 7m82 PR and
nevertheless 717 712 . However if %01 12 w1 would agree with ¥" that PP PR
TIRY 727172 1°0910 (or even WY °21), then there can be no woman who is 777 72w and PX
m»p% IR, for according to ¥" a woman who is 77P2 MIRI PR (a 1KY 21 [or (even
7wy v27n]) is also 7717 72 1R, The &) therefore is asking why was it necessary for 12 w'"9
X°01n to have a different 77°% than *32°n;7 w"2 — or 17°°1°2 °R what difference does it make
which 77 is used by X°01n 12 w".

Summary
The question 17112 *Xn 121 ¥"17 is why did X°01n 32 w"9 choose a different

T that "32°n7 v, when seemingly there will be no difference (according
to ¥'").

Thinking it over
How is the question 1712 *X7n understood without N1901N; and how is it
understood according to No0IN?

question 177122 °K» is why did X°011 12 "1 choose a different 772 (of 72°°P% 77X 1°X) when seemingly he
could have used the same 77> (of 7°17 72 w* that 32°n71 WPY uses), if R*011 12 "3 agrees with ¥"A.

? There is no known source as to what X011 12 w"1 maintains concerning 31 PIX? 212 POOIN PR,

* X°01 12 w"1 is arguing with *12°n1 w" who maintains that the criterion for 03p is 71 772 w. However "
X°011 12 disagrees and maintains that the criterion is not 777 72 ¥, but rather 7% 7817 7wR; indicating
that even if 7177 72 w°, however, if she is not npP% XA, she receives no 03p. This indicates that there are
such women. The X711 challenges that if ¥°011 72 w" would agree with ¥"9, then there, seemingly, can be
no such woman.
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